
Classification Questions Overview
Classification Questions have a good weightage in the Banking Exam and the type of question asked in Banking exam is

similar to the question mentioned below. It has been solved and explained by Gargi.ai Experts and they have tried to

elaborate the concept used in Classification Questions.

Question
In the following question, select the odd letters from the given alternatives.

Difficulty : Moderate Average Time : 27 Seconds

Options :
1. ADG

2. FIL

3. TWY

4. NQT

Solution
The correct answer is option 3 i.e. TWY

Understanding

In the above given analogy each letter in

every combination is related to the other in a

certain way based on english alphabet.

A = 1, B = 2, C = 3 ....... Z = 26

ADG: A + 3 = D; D + 3 = G

FIL: F + 3 = I; I + 3 = L

TWY: T + 3 = W; W + 2 = Y

NQT: N + 3 = Q; Q + 3 = T
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